C:# Multiplying Using Arrays Name:

Usethearray provided to solve each problem. Answers
1) 48x23 = 2) 45x44 =
1.
1 1 2
1 1 3
: ' 4.
1 5
6.
3) 33x36= 4) 37x24 =
5 39x14 = 6) 35x12 =
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Multiplying Using Arrays Name: Answer Key
Usethearray provided to solve each problem. Answers
1) 48x23 = 2) 45x44 =
1. 1,104
20 3 40 4
: : . 1,980
40 : :
(40 x 2040 A 3) 40 - 3 1,188
: (40 x 40) (4p x|4)
800 %2) 1,600 ﬁsc
4. 888
8 | @xay@ly e
O o) S (5 x 40) (G x ) > 46
200 20
6. 420
3) 33x36= 4) 37x24 =
30 6 20 4
30 : 30 (30 x 20) (3:0 x @)
(30 x 30) (30> 6 600 1120
900 ' 180 :
3 [T @Bx30) 3%6) 7 (7x20)  (Tx4)
90 18 140 128
5 39x14 = 6) 35x12 =
10 4 10 2
30 : :
(30 x 1030 x 4) '
300 1120 30 | (30 x 1030 % 2)
i 300 B(Q
O l@xw9xH e i
9 '36 S | (5x10(5:x[2)
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